
CAN-AM Maverick X3 Tinted Visor Instructions

STEP ONE – Remove Roof.  On the factory Can-Am roof there are 4 
screws with nuts, and two Velcro type straps on the front. 

Please read through all instructions before beginning installation.

STEP TWO – Slide the 2 tube clamps around the top cage bar in approximate position. It may be neces-
sary to squeeze the clamp closed around the tube to get it to reshape to a usable gap. Leave clamps in 
place for now.

STEP THREE – Install angle brackets to the frame as shown using the second hole from the front. Use the 
2.5” bolts to attach bracket by inserting from the outside of the frame to inside and through round hole 
on the bracket. The slotted hole will be used to bolt the visor on. You don’t use any washers on the 2.5” 
bolt. Secure with a locknut but leave slightly loose for now. (If you have Can-Am mirrors, just use one of 
the mirror bolts to hold the bracket on)

STEP FOUR – Install visor onto tube clamps and angle brackets using supplied hardware. Use the 1” 
bolts for the angle brackets. Use the 1.25” bolts for the round tube clamps. Install a flat washer on the 
bolt head side, and the nut side for these 4 bolts. Adjust the position of the visor so it is square with the 
cage. Tighten down all hardware snug including the 2.5” bolts though the angle brackets.

1 – 1/8” × 1/2  Adhesive Foam (40”)

2 – Rubber Coated Clamp  2”

2 – Bolt  1/4-20 × 2.5”

2– Bolt  1/4-20 × 1.25”  

2 – Bolt  1/4-20 × 1”  

8 – Flat Washer 1/4”

6 – Locknut 1/4”

2 – “L” Bracket (MA X3 Visor)

Clamp Orientation Bracket Orientation

Clamp Location

Bracket Location


